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Chapter 22
France: From Liberal Empire to the Third Republic
Pretest

1) The newly elected French National Assembly of 1871 was dominated by:
a. Socialists
b. Radicals
c. Monarchists
d. Liberals
e. Anarchists
2) The Paris Commune was dominated by:
a. Petty bourgeoisie
b. Communists
¢. The urban poor
d. Ultra-royalists
e. Anarchists
3) In 1894 Captain Alfred Dreyfus was found guilty of:
a. Passing secrets to the Germans.
b. Embezzling funds from the French army.
c. Conducting unauthorized secret talks with Russia.
d. Crimes against humanity.
e. Lying about his religious affihations.
4) In the 1860s, Napoleon III did all of the following except:
a. Sign a free trade treaty with Britain.
b. Permit labor unions.
c. Relax press laws.
d. Permit freer debate in legislature.
e. Form an alliance with Prussia.
5) The stability of Napoleon III's regime was undermined by all of the following
except:
a. Italian unification.
b. German unification.

c. Growing criticism from the liberals.
d. Emergence of Prussia as a dominant power.
e. Working-class rebellion.
6) What event ended the Second Empire of Napoleon III?
a. The formation of a united Italy



b. The Crimean War
c. The Seven Week’s War
d. Austro-Prussian War
e. The Franco-Prussian War
7) The National Assembly of the Third Republic was filled with monarchists, but
they never restored the monarchy because their loyalties were divided
between the House of Bourbon and the House of Orleans.
a. True
b. False
8) Historians have traditionally divided the reign of Emperor Napoleon III into a
period of authoritarian empire and one of empire.




